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BELUER] WFH™ 0 0 12500
I BTA FAmT 1 400 15400
DELIER i3 =T 1 0 0 1 300
DELIER & BPa 1 0 0 1 1000
GELIER] & Bk 2 1 500 1 40000
DELIER] & =47 1 1 2500 1 2500
BEEIER] & BREEL AL E BT 1 1 100 1 100
GELIER] & R P EREE(F BT 1 1 600 1 600
BELIER] & EEBOD EH 1 1 1000 1 1000
DELIER =Y /NG?] 71 10 19300 0 107600
GELIER] R 3 2 1100 2 14000
DELIER EEEFD 1 1 100 1 400
DELIER HETFH 1 0 0 1 200
BELIER] SHhES 2 0 0 2 35000
BELIER] NEENE BHET 1 1 10000 0 0
DELIER REEB=AHET 2 0 0 2 2100
GELIER] % EER % 2T 1 1 4000 1 1300
BELIER] hZEERE A D S H] 1 0 0 1 500
DELIER NG 1 1 400 1 400
DELIER FHNET 1 1 100 1 100
GELUER] KMl 1 1 2700 1 2700
o BTA [iidat] 1 1 1000 1 5000
DELIER R F ERAE BB T 2 1 2000 1 2000
DELIER EZENTFHET 1 0 0 1 10000
GELUER] A AR (R 5 BT 1 1 10000 1 10000
DELIER EAT 2 1 3000 1 10000
DELIER TEM 1 0 0 1 1000
GELIER] FET 1 1 25000 1 25000
LELIER Al T 1 0 0 1 2500
BELIER BEM 2 0 0 2 11000
GELIER] sy ] 1 0 0 1 21200
I ATAT HES 1 1 2500 1 2200
GELUER] L= AR F AT 1 0 0 1 300
GELIER] L= AR EF AT 1 1 100 1 100
DELIER] LA =N 1 1 500 1 500
BELUER] TAEEBK) AT 1 1 500 1 500
GELIER] ENER L DHET 1 1 200 1 800
DELIER) EEM= ) || BT 1 1 1000 1 500
BELUER] = AR 7+ HT 1 0 0 1 5700
BELIER] &R = Jt AN 2 1 200 2 500
I BT AT a8 = 1 0 0 1 500
BELUER] &R = KEHT 2 2 6400 2 2400
GELIER] &R = BT 2 2 600 2 600
BELIER) &R R W 1 1 6600 1 3600
GELUER] & = g 1 0 0 1 9000
I ETA B K 1 1 2000 0 0
BELUER] &R = iTHE™ 1 0 0 1 10000
GELUER] & = 2HiH 1 0 0 1 26000
I ETA fah e i 1 1 2400 0 0
BELIER) &R = KRBT 1 1 200 1 11000
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GELIER] = 12 BE™ 1 1 100 1 500
I BT AT a2 FEEEL S R AT 1 1 4400 1 2000
BELUER] SR REEE R 1 1 15000 1 30000
GELIER] = 12 B EBKEET 1 1 200 1 200
BELIER] B 1R = B AR IE AT 1 1 200 0 0
GELUER] SR B AR AT 1 1 2500 1 2500
GELIER] &R 2 B2 FEL/IVTHT 1 0 0 1 3000
BELIER] B 1R AR EBINAETET 1 1 300 0 0
GELUER] SR FH) 2B % BT 1 1 4500 1 7500
GELIER] &R 2 RAERER x> Z BT 1 1 2100 1 3200
BELIER] &R = R EEZET 1 1 5000 0 0
GELUER] EE R E#Em 2 2 8600 1 100
GELIER] EB R =8 1 1 100 1 100
BELIER] HEEE =EEERE LA 1 1 2000 1 8000
GELUER] RIFE BT 1 1 1000 1 1000
 BTA RIFE NI 2 1 100 2 1100
BELIER] RIGE Sk 2 2 15100 1 13600
GELUER] RIFE R AT ER K 1 R BT 1 1 1000 1 6500
 BTA REAIR BEAT 1 1 1900 1 3200
I BT AT REAR SE™ 2 2 1100 2 800
GELUER] REARIR e 2 2 7700 1 300
I ETA REARIR i 1 0 0 1 2200
GELUER] REAIR FEH 1 1 200 1 800
GELUER] REAIE EXES 1 0 0 1 500
I ETA REARIR Fik T 8 3 3400 7 4700
BELIER] REARIR T EBFE R ET 2 1 1000 2 31000
GELUER] REARIR T A EBFOKHET 2 2 1100 1 2500
DELIER REARIR BRI AR AR 2E LA 1 0 0 1 3000
BELUER] REAIR Be] R AR = FAT R A 1 0 0 1 50000
GELIER] REAIE JNREBK) 11T 1 0 0 1 3000
DELIER] REAIR LKEEEB SR ET 1 1 1000 0 0
BELUER] REARIR IKEEEB S A0 BT 1 1 1000 1 1000
GELIER] REAIE EREEER K EATF 1 0 0 1 2000
DELIER] KR HHE 1 1 2000 0 0
GELUER] KR EARM 1 0 0 1 3000
GELIER] AR HEEm 1 0 0 1 2000
DELIER] KR HEREE SN 1 1 500 0 0
BELUER] ZiFE = ] 1 1 2000 0 0
i ET A =] b8 R AL = AR HT 1 1 2800 0 0
DELIER) =yl R B EE = AT 1 1 13600 1 14700
BELUER] ZiFE FEEAFER B 2 S2HT 1 1 100 1 100
I ETA EREE BET 1 1 1000 1 1000
BELIER] BRER yMh] 1 1 800 1 10900
BELUER] BEREE HokE 2 2 11000 2 16400
GELIER] EREE = 3 1 200 3 12600
BELIER) BRER E i ] 1 1 2300 1 9700
GELUER] EREE ZEM 2 2 5500 2 5500
 BTA BREE Wb & BAEH 2 0 0 2 3500
BELUER] BREE BRIkl 1 1 5000 1 20000
GELUER] EREE EfmEm 1 1 2000 1 2000
I ETA BREE HKEB & S ET 1 1 20000 0 0
BELIER) BEREER FFE AR % T HT 2 2 2000 1 1000
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GELIER] EREE =Y PN 1 1 10000 1 25000
DELIER BREE BEEELEASHT 1 1 10000 1 5000
BELUER] BEREE REEBE SHT 2 1 2000 2 5000
GELIER] EREE R BERFNAHET 2 0 0 2 4000
I BT AT R BRFED 3 3 1400 3 1400
GELUER] paakiclt FiE™ 3 3 1600 2 600
GELIER] pashizEfE SEANT 1 0 0 1 10000
BELIER] B LR EREH 2 1 1600 2 40600
GELUER] Pahic:L 55 %M 2 1 200 2 1200
GELIER] padhizEAC ESEERaIS i) 1 1 10000 1 10000
BELIER] pashic AL SEERIEEA N 1 0 0 1 200
GELUER] packic 1S BEREAEEN 1 0 0 1 1000
GELIER] pachic AL ERBELEN 1 1 1000 1 1000
SSHIIES BHRED FHREX 2 2 2600 2 2600
FERIX HRAD X 3 3 600 0 0
FERIX HRAD X 61 26 17600 43 19100
Rl X HREB | 6 5 2400 5 1700
FERIX HRAD XRX 2 2 1100 1 1100
FERIX HRAD SHAKX 1 0 0 1 200
FERII X BHRED THEK 1 0 0 1 300
FERIX HRAD f) 11X 1 0 0 1 200
FFRII X BRAD BREX 1 1 500 1 300
Rl X HREB AHEX 6 4 6700 5 27700
FERIX HRAD HHAX 38 31 29500 7 94300
FFRII[X HRAD FEFX 4 4 21100 2 700
FERII X B X 3 1 2100 3 2100
FERIX HRAD JbX 1 0 0 1 2000
FFRII[X HRAD el 1 1 20900 1 7200
Rl X HREB X 7 2 12100 7 5600
FERIX BB B X 6 5 1300 4 800
SSHIIIES BRER BIX 2 2 51000 0 0
FERIX BHRED STRNX 1 1 700000 0 0
— X BEE S W EHRX 2 1 3000 2 3500
— g X FEIR SV EF X 2 0 0 2 14000
— X ] LB LXK 1 1 100 1 1000
— %X el 1L IR 1L e X 1 0 0 1 1000
— g X LR e X 2 2 5500 1 500
— X ] LB LR X 1 0 0 1 1000
— X KR AT KR 3 BRI 5 B X 1 0 0 1 2000
— X FEE A X 1 1 500 1 2000
— %X AT FE AL 1 0 0 1 1000
— X TR FEHAERKX 1 1 1000 0 0
— %X REBHT R AR RKX 1 1 5400 1 4400
— %X AT REHEILX 1 1 1000 1 5000
— X AT FEHREX 1 0 0 1 500
— %X =Sl LB mAEMRX 1 1 2000 1 1000
— X =8 ILEMmHEKX 1 1 1000 1 2000
— g X =8 LA EHEX 1 1 1000 1 2000
— X =R ILEHmARERX 1 1 1000 1 2000
— %X =8 LEMRK 1 1 1000 1 2000
— X N1 [LBHERX 1 1 300 1 200
— X e BREMEX 1 1 1000 1 1000
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— X REAIE REARTMERKX 1 0 1 8200
— X REARR REATFX 1 0 1 1800
— X REARIR AR X 2 0 2 2000
— X REAIE REAMILX 1 1 400 1 10000
=[] BRER 1 1 2000 0 0
=[] LG 1 0 0 1 1000
=] ) 1 0 0 1 2000
SHBA FRI 1 0 0 1 20000
=[] (= 1 0 0 1 500
=] 5|l iy 1 0 0 1 2000
SHBA BT 1 0 0 1 1000
=[] 29 ] 1 1 200 1 2000
N1l =G 1 1 500 1 500
SEB REAT™ 1 0 0 1 2000
SER mR™ 6 3 1600 6 6500
HEA SWimEm 6 3 900 5 5900
ER EREE 1 1 200 1 200
ER FESB 1 1 1500 0 0
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